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QUESTION 1

Which two objects in the Symantec Endpoint Protection Manager console describe the most granular level to which a
policy can be applied? (Select two.) 

A. Site 

B. Domain 

C. Group 

D. Location 

E. Computer 

F. User 

Correct Answer: CD 

 

QUESTION 2

Which Symantec Endpoint Protection component enables access to data through ad-hoc reports and charts with pivot
tables? 

A. Symantec Protection Center 

B. Shared Insight Cache Server 

C. Symantec Endpoint Protection Manager 

D. IT Analytics 

Correct Answer: D 

 

QUESTION 3

What is the file scan workflow order when Shared Insight Cache and reputation are enabled? 

A. Symantec Insight > Shared Insight Cache server > local client Insight cache 

B. local client Insight cache > Shared Insight Cache server > Symantec Insight 

C. Shared Insight Cache server > local client Insight cache > Symantec Insight 

D. local client Insight cache > Symantec Insight > Shared Insight Cache server 

Correct Answer: B 

 

QUESTION 4
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A Microsoft SQL Server containing a Symantec Endpoint Protection Manager (SEPM) database has encountered an
unrecoverable hard drive failure. An administrator has rebuilt the Microsoft SQL Server and has confirmed that the
SEPM can connect with the SQL Server. Which step should the administrator take next? 

A. Select Rebuild Indexes from the SEPM console 

B. Launch Checksum.exe database integrity tool 

C. Use the Backup and Restore utility included with SEPM 

D. Select Truncate Transaction Logs from the SEPM 

Correct Answer: C 

 

QUESTION 5

In addition to performance improvements, which two benefits does Insight provide? (Select two.) 

A. reputation scoring for documents 

B. zero-day threat detection 

C. protection against malicious java scripts 

D. false positive mitigation 

E. blocking of malicious websites 

Correct Answer: BD 

ST0-134 VCE Dumps ST0-134 Practice Test ST0-134 Braindumps

Powered by TCPDF (www.tcpdf.org)

ST0-134 VCE Dumps | ST0-134 Practice Test | ST0-134 Braindumps                                3 / 3

https://www.pass2lead.com/st0-134.html
https://www.pass2lead.com/st0-134.html
https://www.pass2lead.com/st0-134.html
http://www.tcpdf.org
https://www.pass2lead.com/st0-134.html
https://www.pass2lead.com/st0-134.html
https://www.pass2lead.com/st0-134.html

